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JER of different process
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RMS90
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window = sorted_values[start:start + count90]

rms = calculate_rms(window)
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Process: JER/JES of eeqq(eebb)

v~The-center-of mass-energy

are . DSCB DSCB

| cos(O)_truthl <Q.7 | 005 Tcas(o)_truthl <0.7

80GeV 91.2GeV 120GeV 0.08|- Input: 491400 .. CEPCRef-TDR:25.1.0 3 & | 'Uiva01a00  cEPC I_—_—

Output: 263259 E240:ZH->vvbb - Output: 263259 E240:ZH—>vvbb

160GeV 200GeV NN R

Q.07 e rsesmeiban et am e b e

COndItIOn : _ '_ 0_0355__ o
e lcosthetal<0.7 S 5 S
® 120GeV 160GeV 200GeV S e | g . -

dijetmass>100GeV

E-E_0~125 - | . E : _

Mean =0. = 0.0012 I 0.005:—
- Sigma =0.0510 =0.0015 CEPC Ref-TDR:25.1.0 ’ -

JER

IiN
[@)
@)

(0.01)

0.03lJJJJJlllllIiJJJJ]IIIII]JJJiIIIIII G

| x2/ndf = 45.33 f f E240:ZH—>vvuu 40 50 60 70 80 920 100 40 50 60 70 80 90 100

t

=y
N
o
o

Events /

(0]
o
o
TT T [T T T [T T T [ T T T [T T T[T 11
I | l | I




Fit result
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Energy Distrubition

eebb of 80GeV E Distribution
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zz_slOnu_up
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